1.B.  The SONJ case took many years and substantial government and private resources to prosecute.  At the end, while SONJ was found guilty, there was no effective remedy that would result in significant changes to firms’ behavior.  In addition, the vagueness of a “rule of reason” standard caused substantial uncertainty as to what was and was not allowed under the antitrust laws.  As a consequence, economists and policy maker began asking the question of whether there was a significant problem that needed addressing.

A.  How would you economically go about asking whether monopoly (or more generally anticompetitive behavior) was a significant social problem?

B.  Is the welfare cost of monopoly limited to the “welfare triangle?”  What about:

i.  cost efficiencies?  Is there any economic reason to believe monopolies might be less efficient on average than firms in competitive markets?

ii.  vertical relationships?  If one monopoly sells to another will the “welfare triangles” properly measure the social cost of the monopolies?

iii.  monopoly profits?  Are the monopoly profits simply a transfer between consumers and firms’ owners such that it is simply a distribution problem rather than a welfare problem?  (Hint - how do firms become monopolies?)

